Working drawing
Hardcover A4 portrait

Please provide the PDF in the Following format:
total height =337 mm
total width = 464 mm + spine width (A)
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width 464 mm + spine width (A) = total width
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total height
337 mm

width 464 mm + spine width (A) = total width

Wrap-around edge = 17 mm, let the
image extend to the edge.

Spine width A
(Check calculator for correct size)

Visible area

Joint/hinge = 9 mm, it is not
recommended to place text here. This is
the area next to the spine where there
is no cardboard underneath.
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image extend to the edge.
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